LOLLECULES

Plants use energy from the sun to convert
6 carbon dioxide (CO,) molecules and 6 water This is the
molecules (H,0) into one glucose molecule process of

(C,H,,0,) and 6 oxygen molecules (O,). :
photosynthesis
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Use the lollies provided to make EITHER:
6 carbon dioxide molecules and 6 water molecules OR
1 glucose molecule and 6 oxygen molecules
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S om et h | n g to What will happen to the glucose when your

body breaks it down to make use of its energy?

t h I n k a b O u t Find out the answer, and more at photosynthesis.org.au/teachers




